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Vertical Division with aHelper Grid

Name:

Solve each problem.

Answers

1) 2) 3)
1.
7113140 48|13312 768588
2.
3.
4.
5.
6.
4) 5) 6) &
365744 405239 628494 8.
9.
7) 8) 9)
8818712 858915 915968
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
D) 44r16 2) 69 3) 113 44716
71[3140 48[3312 76[8588 "
0 0 0 2 69
31 33 85
0 0 76 3 113
314 331 98 . 159120
284 288 76
300 432 228 s 130r39
284 432 228
16 ) 0 6. 137
7 99
4) 159r20 5) 130r39 6) 137
36[5744 40[5239 62/8494 s 104175
0 0 0
57 52 84 0. 65153
36 40 62
214 123 229
180 120 186
344 - 39 434
324 0 434
20 39 0
7) 99 8) 104r75 9) 65r53
88[8 712 85[8915 915968
0 0 0
87 89 59
0 85 0
871 41 596
792 0 546
792 415 508
792 340 455
0 75 53
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